T&T6 4.4 Geometric Sequences

January 15, 2015

{ Example 4 )

The product of the first three terms of a geometric sequence is 216 and their

sum is 21. Given that the commorrre-t-'re—r—ie—l-ess—t-heﬁ, find the first three terms of

the sequence.
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Exponential sequences

( Example 6 )

A ball is dropped from a height of 27m and loses % of its height on each bounce.

(i) Find the height of the ball on each of its first four bounces.
(ii) Hence write down the height of the ball after the 10 bounce. Ta=7

(iii) After which bounce will the ball be at most 2.5 m above the ground?
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T&T6 4.4 Geometric Sequences January 15, 2015

{ Example 5 )

Find the number of terms in the geometric sequence 81,279, ... 21—7
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8. The third term of a geometric sequence is —63 and the fourth term is 189. Find

(1) the values of @ and r
(i1) an expression for 7.
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